Lecture 10

Exercise 1: Give some examples of legacy analog speech com-
munications and very simple analog speech communication
systems.
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Exercise 2. A5 kHz signal is sampled at 8 kHz. What are the
positive and negative frequency components of the 5 kHz
signal before sampling? What is the frequency of the aliased
component falling into the 0-4 kHz range?
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Exercise 3: What is the quantization SNR for a sawtooth wave
varying from 0 to 1V if a 7 bit A/D converter is used with an
inputrange of 0to 2V?
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Exercise 4; If the sampling rate is 8 kHz and there are 8 bits
per sample,%at is the data rate in each direction? How many
bytes per minute are transmitted for a two-way connection?
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Telodion c\»\g between  Rme-domain R 'ﬁl&%ulnc-\ domain
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